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 :       .  
 
1. (A)       1,00,000  .     

80%     .      : 14 

 (`) 

    24 

     4,00,000 

   8 

   3,00,000 

   44 

       ( 2018-19) 

   72,000  
    64,000  
    . 31-3-2019 14,400 . 
           ` 32,000  . 
   2018-19         ,    

      .  
 

  (1)  .  2017  2018           : 7 

  / 

2017 ` 50,00,000   ` 2,50,000  

2018 `  1,50,00,000   ` 17,50,000  

   -   2018        
 . 

  (2)      . 7 
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 (B)           (  ) 4 

  (1)      ________  . 
   (a)       

   (b)      
   (c)     
   (d)           . 
  (2) -      _________. 

   (a)      

   (b)     
   (c)         
   (d)    
  (3)  .     : 
    ` 12,000 

     ` 24,000 

     ` 30,000  

      ________ . 
   (a) 30% (b) 40% 

   (c) 20% (d) 25% 

  (4)        ? 

   
  + 

   

   (a)   (b)   
   (c)   (d)     

  (5)        ________  . 
   (a)   (b)   
   (c)   (d)  
  (6)       : 
   10,000        ` 3,00,000. 

   10,000        ` 3,60,000  

          ? 

   (a) ` 30 (b) ` 36 

   (c) ` 6 (d)    
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2. (A)   .     A, B  C     
 .     .        : 14 

  A B C 

     8,000 10,000 6,000 

   (`)  500 400 600 

-   20% 25% 30% 

      39% 60% 60% 

       ` 5,00,000    –     
` 6,40,000 . 

      ` 6 .    5,80,000     
 . 

         .       . 
 

  (1)  .            
 .     25         
   35          
  .   60   .     2   
 .      1    .   
   ` 45      ` 30 . 7 

                
  .  

  (2)        . 7 

 (B)         : (  ) 4 

  (1)          ? 
  (2)    . 
  (3)   “ ”   .   
  (4)        . 
  (5)      ? (   .) 
  (6)       . 
 

3. (A)              
      : 14 

   
(`) 

  
 (`) 

  
  

X 160 120 20% 
Y 200 140 50% 
Z 320 200 30% 

      ` 90,000 

     ` 4,00,000 
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     X         R    
 .            : 

   
(`) 

  
 (`) 

  
  

R 240 120 15% 
Y 200 140 45% 
Z 320 200 40% 

      ` 90,000 

     ` 4,00,000  

       ?  .  
              
  (1) “  ”    . 7 

  (2) “ ”   .  7 

 (B)      : (  ) 3 
  (1)   (2)      
  (3)   (4)        
  (5)   
 

4. (A)  (Just in Time)      . 14 
                               
  (1)    (MRP-I)   ?   ()  

     ? 7 
  (2) “   ”     . 7 
 (B)          : (    ) 3 

  (1)    ________      . 
   (a)   (b)   

   (c)   (d)   
  (2)          _______. 

   (a)   (b)   

   (c)   (d)   
  (3) MRP-II  _________ . 
   (a)   –   
   (b)   
   (c)    
   (d)    
  (4)       .  
   (a)    . (b)    . 
   (c)     . (d)    . 
  (5)      ________   . 
   (a)  (b)  (c)  (d)  

__________ 
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M.Com., Sem.-II 

412 : EA/EE – Cost Accounting-II 
(Old / New) 

 
Time : 2:30 Hours]  [Max. Marks : 70 
 

Instruction : Figures on the right hand side indicates the marks of the question. 

 
1. (A) Annual production capacity of Ram Limited is 1,00,000 units. But generally only 

80% production capacity is used. Cost details are as under : 14 

  ` 

Standard variable cost per unit 24 

Fixed production expenses (yearly) 4,00,000 

Variable selling expenses per unit 8 

Fixed selling expenses 3,00,000 

Selling price per unit 44 

  Production and Sales details (for the year 2018-19) 

  Production 72,000 units 

  Sales  64,000 units 

  Closing stock on 31-3-2019 14,400 units. 

  Actual variable production expenses were ` 32,000 more than standard variable 
production expenses. 

  Prepare Income Statements showing total cost and total profit under Absorption 
costing and Marginal Costing for the year 2018-19. 

OR 

  (1) The sales and profit or loss of Adarsh Ltd. for the years 2017 and 2018 are 
as under : 7 

Year Sales Profit/Loss 

2017 ` 50,00,000  Loss ` 2,50,000  

2018 `  1,50,00,000  Profit ` 17,50,000  

   Calculate profit-volume ratio and percentage of margin of safety on sales 
for the year 2018. 

  (2) State assumptions and limitations of Break-even Analysis. 7 
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 (B) Select the correct answer from the given alternatives of each questions : (Answer 
any Four)  4 

  (1) Production cost under absorption costing is ________. 

   (a) Higher than variable costing  

   (b) Lower than variable costing 

   (c) Equal to variable costing 

   (d) Higher sometimes and lower sometimes than variable costing. 

  (2) P.V. Ratio can be improved _________. 

   (a) by increasing variable cost  

   (b) by increasing the selling price 

   (c) by increasing variable cost and reducing selling price. 

   (d) by all of the above 

  (3) Information of Asha Limited is as under : 

   Profit ` 12,000 

   Fixed expenses ` 24,000 

   Margin of safety ` 30,000  

   Profit-volume ratio will be ________. 

   (a) 30% (b) 40% 

   (c) 20% (d) 25% 

  (4) What is derived by using the following formula ? 

   
Ratio P.V.

Profit  Expenses Fixed 
 

   (a) Break-even point (b) Margin of safety 

   (c) Actual sales (d) Sales to earn profit 

  (5) The difference between actual sales and Break-even sales is called 
________. 

   (a) Fixed expense (b) Margin of safety 

   (c) Variable cost (d) Contribution 

  (6) Information of a company is as under : 

   Normal production cost for 10,000 units under marginal cost ` 3,00,000. 

   Normal production cost for 10,000 units under absorption cost ` 3,60,000  

   What will be factory cost per unit ? 

   (a) ` 30 (b) ` 36 

   (c) ` 6 (d) None of these 
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2. (A) Merigold company Ltd. produces three products A, B and C from the same type 
of raw materials. The supply of raw materials is the limiting factor : 14 

  Some details about the production are as follows : 

Particulars A B C 

Annual maximum production (Units) 8,000 10,000 6,000 

Selling price per unit (`)  500 400 600 

P.V. Ratio in percentage 20% 25% 30% 

Percentage of Raw materials in total variable cost 39% 60% 60% 

  The annual fixed overheads of factory are ` 5,00,000 and annual administration-
Selling fixed costs are ` 6,40,000.  

  The cost of one kilogram of raw material is ` 6. The maximum supply available 
for production is 5,80,000 kgs per annum 

  Determine the optimum production mix for maximum profit and find the 
estimated profit of the production-mix so determined. 

OR 
  (1) Platinam Ltd. produces two models super and deluxe of a certain product, 

on monthly basis. The monthly production cannot exceed 25 units for super 
model and 35 units for Deluxe model because of limited available facilities. 
The company employs a total of 60 workers. Product super model requires 
2 man months while product Deluxe model required only 1. Profit margin 
on super model is ` 45 and on Deluxe model is ` 30. 7 

   Formulate it as linear programming problem and solve for maximum profit 
and draw graph also. 

  (2) Write short note on “Objective Function Lines” in linear programming. 7 

 (B) Answer the following questions in one or two lines only : (any Four) 4 

  (1) When simplex method is used for solving the problem ? 

  (2) Give the definition of linear programming. 

  (3) State the importance of “Limiting Factor” in decision making.  

  (4) State any two basic requirements of linear programming. 

  (5) What are the limitations of linear programming ? (State any two) 

  (6) State any two uses of linear programming. 

 
3. (A) Leena Ltd. a multi product company gives the following data on cost and sales of 

three products manufactured by it : 14 

Product 
Selling Price  

(`) 
Variable cost per 

unit (`) 
Percentage share 

in total sales 

X 160 120 20% 

Y 200 140 50% 

Z 320 200 30% 
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  Total Fixed Cost per year ` 90,000 
  Total Sales  ` 4,00,000 
  The management of the company wants to discontinue product X and introduce 

product R to improve profitability. The revised data regarding production and 
sales are as under : 

Product 
Selling Price  

(`) 
Variable cost per 

unit (`) 
Percentage share 

in total sales 
R 240 120 15% 
Y 200 140 45% 
Z 320 200 40% 

  Total Fixed cost per year ` 90,000 
  Total Sales  ` 4,00,000  
  Should this proposal be accepted ? Comment. 

OR 
  (1) Explain in detail “Equipment Replacement” decision. 7 
  (2) Write short note on “Opportunity Cost”. 7 
 (B) Explain in one or two lines : (any Three) 3 
  (1) Relevant cost (2) Dropping product line 
  (3) Sunk cost (4) Lease or Buy decision 
  (5) Differential cost 
 
4. (A) Discuss the advantages and limitations of JIT (Just in Time). 14 
                              OR 
  (1) What is MRP-I ? How does it help inventory management. 7 
  (2) Explain the meaning and importance of “Product Life Cycle Costing.” 7 
 (B) Select the correct answer from the given alternatives of each questions : (Answer 

any Three)  3 
  (1) JIT focuses on elimination of ________. 
   (a) Wastage of time (b) Wastage of asset 
   (c) Wastage of material (d) All of the above 
  (2) Target costing is linking factors like _______. 
   (a) Value analysis (b) Market survey 
   (c) Profit planning (d) All of the above 
  (3) MRP-II is _________. 
   (a) a production scheduling approach 
   (b) a traditional approach 
   (c) an inter-departmental approach 
   (d) None of these 
  (4) Each product has to face stage of product life cycle. 
   (a) This is correct statement 
   (b) This is incorrect statement 
   (c) This is partially correct statement 
   (d) This is irrelevant statement 
  (5) The idea about target costing originated in ________. 
   (a) America (b) France (c) China (d) Japan 

__________ 


